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Intermediate Algebra (B) Name V‘khglngg
Review — Unit 5 Part 2— Solving Quadratic Equations “Class period 1 2 3 4 5

Problems 1-3: Given the graph of a quadratic function, determine if the discriminant is positive, zero, or
negative.
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Can this equation be factored? Why? '\Sa\ L £ E,\ O TRV ﬁij \<
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Number and type of solutions: (Multiple Choice)
a) 2 Real & Rational Numbers
b) 2 Real & Irrational Numbers
c). 1 Real Number
’ﬁ? Complex Numbers
Solve uSing the Quadratlc Formula OR F actormg
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Can this equation be factored? Why? \lﬁ’ S I aiad) .

Number and type of solutions: (Multiple Choice)
Real & Rational Numbers
b) 2 Real & Irrational Numbers
¢) 1 Real Number

d) 2 Complex Numbers
Solve using thef uadratic Formula@R Factoring: \B _ -
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Value of the discriminant: (2

Can this equation be factored? Why? \!gé‘ S ﬁk)if
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Number and type of solutions: (Multiple Choice)
@) Real & Rational Numbers
b) 2 Real & Irrational Numbers
¢) 1 Real Number
d) 2 Complex Numbers

Solve using the' Qmatlc Form\l‘j@)R Factoring:
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13. 2x*2-36=0

Value of the discriminant: -2 2(%?
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Can this equation be factored? Why? NZ\), (j\f% Ny ‘«%mwé/k}i’“ o [RIvE

Number and type of solutions: (Multiple Choice)
a) 2 Real & Rational Numbers
'b) 2 Real & Irrational Numbers
1 Real Number
( d) 2 Complex Numbers
Solve u§ing the Quadratic Formula OR Factoring:
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14. «x? +x—2j;) OK\ —b+b —4dac

Value of'( the Sisérimihant: x=
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Can this equation be factored? Why? \:,bf S Al cpimminain “““"“? P@%@@/%mg %m@g@ %._;];

Number and type of solutions: (Multiple Choice)
(_a) 2 Real & Rational Numbers
b) 2 Real & Irrational Numbers
¢) 1 Real Number
d) 2 Complex Numbers
Solve using the Quadratic Form@OR Factormg
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Value of the dlscrlmina?lt @

Can this equation be factored? Why? Nes, oL vomng e (S

Number and type of solutions: (Multiple Choice)
 a).2 Real & Rational Numbers
b) 2 Real & Irrational Numbers
é Real Number
d) 2 Complex Numbers

16. x5+ T
Value of th{%%dmcrn%mant %, %

Can this equation be factored? Why? \{W @ "Z” Ao i e b

Number and type of solutions: (Multiple Choice)
a) 2 Real & Rational Numbers
b) 2 Real & Irrational Numbers
¢) 1 Real Number

i

\

2 Complex Numbers
Solve using the Quadratic Formula OR Factoring: e =yt
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17. The height of an object launched vertically is given by A(r) = —1 61> +128¢ +10 where h is the height of the

object in feet and t is the time in seconds.

WORK SPACE

a.) Find the height of the rocket after 1 second.
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b.) At what time(s) is the rocket at a height of 202 t?

¢.) When does the rocket reach the maximum height? What is
the maximum height?
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d.) When does the rocket land on the ground?
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height (feet)

e.) Using the information you have collected above, sketch a
graph depicting the rockets height at time t.

f.) The equation you wrote above only models the height of
the rocket while it is in the air. Find the domain and range
of this function.
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HIGHER LEVEL THINKING!! v *-tac

18. Given the equation, x2 + bx + 9 = 0, find the value(s) of b to make the equation have the following
discriminants. Explain your reasoning.

a) For what value(s) would we need b to become in order for the equation to get a negative discriminant?
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b) For what Value(s) Would we need b to become ﬁ’rjorder for the equation to get a positive discriminant?
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